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D C B A Questions | =iy £
#
« . .. 2 .
x—-D(x-2) | x+Dx-2) | x+Dx+2) | (x=D(x+2) ALz L X —x=2 |
Two factors of x° — x— 2 are:
u}juné -\/3)6 +18 = X =hl-$ik
¥=9%3=0 x=-3,x=6 | x=-3,x=—6 | x=3,x=—6 | Two roots of radical 2
equations J3x+18 = x are:
4 3 -3 3 e oA 6wl 4x* —3x+6=0 3
3 —4 4 4 Sum of roots of 4x° —3x+6=0
7 ; (
®,0° l,— 1,® 1y~ F?\%&\\ -G Ao LU 4
I d“_%fo square roots of unity are:
None ._:.,.,-’IJ._.,..#L": J)G/s.:.ﬂ“[.’: "'.""/[:: . \““X,. <} :UEJ’JJJ}szfgL-ij
<178 Directly Inverse ﬁo 2/ | Circumference and radius of circle are: S
proportional proportional /,\EJ;@S}( ptional
<17 G Yy A/_\fﬁ@v o~ .uga_LL;(cmbui'a.b..c.d A
None of Fourth it \Q( ‘ s In a proportion a:b:c:d, b and ¢ are 6
these Proportional RN OV called:
e . -
a—b:x—y a+b:x+y ((\é\ “—:E E:E :(_f‘;_;p«r’dl,g!;’!fa:szﬂy/(l 5
NN y X i a:b=x:y, then alternando property 1s:
Xy by (7B If a:b hen alternando property
B | 1 1 1 D
VS ey —_— —cosec45’ = 3
) V2 J2 22 2
1 1
cos O ‘ 2cos” 2sec’ | = 9
sec” O cos” 0 sec” O (5o | 1oadnf
o il - o A chord passi :i;MH Uﬁtﬁféff&?b 10
Circumference Secant Diameter Radius » CHOTE passing TTOUS © cente ot d
circle 1s called:
5 1 A p .:g.ytfuj_ ISR PITEN. ”
The symbol for a triangle 1s denoted by:
J;"J:l ;}ug /5 i, o :q.b‘{ﬁb(jf'/‘iu“flg}ff J;Clé-/b 5
An Arc A Chord Diameter Radius e 1stapce o any pomnt ol the circle 1o
its centre 1s called:
360° 270° 180° 90° et | s
A complete circle 1s divided 1nto :
-5
o’ &’ -0 2 5 @ =" 14
w =1
rﬁﬁ F_ﬁw (4 7j r+ﬁw ?fﬁ:.{fﬂlxz ="/ < lsl
{ — 5 {— > J—>" Qe % , 9 _ 15
9) 2 4 2 The solution set of 4x~ =7 will be:
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( Part—1  J3 ~ad)

12 Solve any SIX parts. -4 4 Zee 3 2
Solve the equation using quadratic formula: J3x2+x =443 5 F e S LUy i Gossss )
Solve the equation: (2x° +1) ? =4 (2x° +1) 3 =4 2 Sl (i1)
2x° +1 2x° +1
Solve by factorization: x> —x-20=0 x’—x-20=0 :ZF¢7 20 (i)
Solve the equation using quadratic formula: Bl +x=43 :EF L bGos  (Qv)
Define reciprocal equation: 2y Pl eblsg (V)
Define exponential equation. Give an example. _EJediogEoy JlendUed (Vi)

Find the nature of the roots of the quadratic :é/J’MJujNL/JF/"UPﬂlérﬁl”(‘Lj’ Juﬁyé s il

equation and verify the result by solving the (vii)

equation: 2x*+3x+7=0 2x*+3x+7=0

Evaluate: (9+40+4w®°)’ O+do+dw’)’ gEesred (Vi)
X*+4x-9=0 :é(:h”f/d“lp,zgl,.ufguju/ffﬁédpfabu (ix)

Without solving, find the sum and product of the roots of the equation: x*+4x-9=0
12 Solve any SIX parts. -éd" l‘zlé;é/ 3

7x° —5mx+9n =0 é(#fu/d"’wuﬁﬁéiffmwJ..;,m
Without solving, find the sum and the product of the roots of the WIC equation: 7x° —5mx +9n =0
Uy —1,-7 uJuLu}..L.bublw‘(fﬂﬂ (11)

Define symmetric functions. %“0 e JESfeT = (i)
% Fe5:6 G LI bV 2 Mokl 314 =0l

(1)

Write quadratic equation having roots: —1,—7

It 2 1s added 1n each number of the ratio3: 4,@7&/@\@

new ratio5:6. Find the numbers. @\}\’ & s Sz (V)
It y varies directly as x, and y=8w 313»)\){ 2, find x ,01’“‘ X dnx=2 L2y=8sus ety sX Ji
when y =28 =28 5 (V)

( \:l s 2 ) .
Find fourth proportional of < ‘b’ and a’+ab+b’ _éfﬁ’gﬁwi_f a’+ab+b’sa+bea’+b’ (Vi)
Find the values of the letter involved 1n the given continued ” ) N
proportion: 8,x,18 'éf’w"‘f Sx "E-%"”L"J}/Uﬁ 8,x,18 (Vi)
State theorem of componendo-dividendo. EABPe e ke (vii)
Express into D°M'S” form: 225.75° 225.75° ¥ s M. D°  (1X)
12 Solve any SIX parts. -ﬁéd’ Imé:a:.Jf 4
Find ¢, when: 6=60°30",r =15mm 0=60°30",r =15mm :,?“ép"" ( (1)

‘e QLS APB 7
What is the length of the arc APB? B (i)
P
A

Find without using table or calculator: sin315° sin315° :;;;fpl’“’af AL A e (i)
What 38 the sexagesimal system of measurement of b ,l_/(Uz‘J (L ke Sups  Gv)
angles’; : =
What are coterminal angles? el w72 (V)
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Define obtuse angle. =y IS e (Vi)
Detine right angle. _Ey S (i)
Define collinear points. Sy S b3 A (vii1)
Detfine a secant. S g (ix)

-+djﬂ9/Jlr_uj/:;O8LJlrﬁ_éJp;uUlyfa_Jf FEPTLPNV-EN

Part — 11, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 1s compulsory.

. 1 X 25 x+1 Xx 29 .

Solve by factorization: ~—— + —— = => =2 A S (U
04 Solve by factorization == —t = Sz 24 (L)) 5
04 Solve the equation: 4x =+/13x+14 -3 4x=\/13x+14—3 :;L;fd"[:.,uu (<)

o
04 o2 P () -6
If a,p are the roots of the equation 4x*>—5x+6=0, then find the value of: — +—

04

04 The Product of five less than three timgs a L7 H;/J‘otaKﬁ/la.tﬂl ”,{5 ~ F3 Cowll (L)
certain number and one less than four times ‘ '

the number is 7. Find the number. g
Using theorem of componendo-dividendo find . 2. J&1 =t K2 7 A

04 the value of 10+ | m+5p,if m:10np J_m_IOnp /épl”_JJersn | m+5p () -7
m-35n m-—35p n-+p n+p —5n m-5p
It (a,b,c,d,e,f;éO)E:E:E, then show that J :é = ;(a,b,c,d,e,f;éO)—:E:E Ji
b d f b d f
04 - —2/3 iy 73 (""’)
ac + ce +¢€a _ E /6\ ac -+ Ce-+cd _ E
bd+df +fb | bdf Q\g bd+df +fb | bdf

©

L\ ¢
Find the values of the trigonometric function O&@ \ 5t A0 s ﬂ,d[, S é r,lw‘_,i S db:{

04 Do not use trigonometric tables or calgu 0 S () .8
tan :

semBC =21cm «mAB =10cm J~ AABC

ro_]ectlon of N — — ()

tan 30°
In a AABC | mAB = IOCH@\BQ% 21cm,
g3 EAC F,BCixmAC =17cm

04 mAC =17cm. Measure the len%t@
AC upon BC. ~§
03 Qf\“‘*‘ -d}.t’ﬁ)!f{:})fﬁ)‘,JJ’EUUL/J{,&“J(}?J/J)?);JUA/&—}(/La’_.jbféﬁ{tt 9

Prove that a straight line, drawn from the centre of a circle to bisect a chord (which 1s not a

diameter) 1s perpendicular to the chord.
OR

Prove that one and only one circle can pass through
three non-collinear points.

-é.l:g,zﬁ/fb(ﬁb{lJ/‘):lugc-k@jj/fdfféﬁ-cf'
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D C B A Questions /| «Ui» Jhﬁﬁ/.
= sl SYAPA" =l / -< ..gf 2(x+1)=2x+2 1
Equation Unequality Identity Fraction 2(x+1)=2x+2is a/an :
Sl .y Sl g S D R TV (Y AV =00 S
A Proper An Identit An Improper An A fraction 1in which the degree of numerator 1s -
Fraction Y Fractions Equation | less than the degree of the denominator is called:
3600’ 1200 630’ 360 20° = 3
EuO="
7. P N
v Evw0=1 !
:Jlﬁd/u%lé..’;rﬂy: {a, b}
0 - 2 1 @ | ' b >
Tflje \{lf 5 of elements in the power set of {a, }
L (Sl 286 ol _x-;,:(ﬁtj‘./jﬂ(ﬂ é@ :‘L.VM{X|X EW/\XSIOI} )
Finite Set Empty Set Subset Infinik%,\S\%}“; )The set {x|x e W Ax <101} is:
% .
SVIRW e Uy —1,4 Y
\Y 11 ) SR NS | o FEnEDA-14) )
) C\(f& Point (—1,4)lies in the quadrant:
, i«ﬂ\f\ Q\i/ b3l dl.? "A Zk S J?’VTL‘? ol 4 u':*pug K}lﬁf‘/;b O’(
' N : . oo
None g | \1\&\?’2/“"” i e b | 8
Zero ,\;““\“i/\, Kitself Negative | Mean of a variable with similar observations
N say constant Kk 1s:

0./ 13 J..W

ATl e SUskStwn Zos |
. Closed . .
Circle Rectangle . A frequency polygon 1s a many sided:
Figure
Jy;l._zfr’c' » " :?&de!:LT;/w‘Lj;quﬁ:l/‘f(
28 b
None Harmonic C a The most frequent occurring observation in a | 10
Median Mode .
Mean data set 1s called:
. .. e bl ee S - v o sl 5 kel
All > S 44 2N, 267 S (j_uﬁu S 11
. o .. The observations that divide a data set into
Percentiles Quartiles Deciles
four equal parts are called:
. o of 4..{. &350 oo ..e"
y: j// P s, | | 2. ‘_[?LJ/.—-“'J"LL;}{L/}LL./ ) 0
. . : Right bisector of the chord of a circle always
Diameter Centre Circumference Radius
passes through the:
. . . :ﬁ;_@mﬁ‘fugm&/;iff"ug
All ? 6 n The measure of the external angles of a | 13
regular octagon 1s:
e b S PR iDL s
360° 270° 180° 90" The semi circumference and the diameter of | 14
a circle both subtend a central angle of:
e by S Kb Il s
360° 270° 180° 90° The semi circumference and the diameter of | 19

a circle both subtend a central angle of:
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( Part-1
12 Solve any SIX parts.

If X=¢, Y=Z", T=0", then find: XNY

J3) ~mar )

_éJlZléLJ/ 2
LEXAYIT=0"Y=2"X=¢]]

(1)
Define a rational fraction. = S S (11)
What 1s an improper fraction? ?é_{j,/;g Sl g (i)
. . . 3 3
Find partial fractions of _EE ek '

g (x+D(x—1) Sl J(X x-n W
Define a fraction. SEwAES W)
If A={2,3,57), B={3,5,8), U={1,2,3,..,10}, then find: 7U={123,...,10{-A={2,357} B ={3538] /i B

vi
A'&B o AKE
If X=Set of prime pumbers less than or equal to :ug-'%l,w!@zﬁm éﬂl:X=¢r€:uﬁ4l4gL;§:—17 m,ﬁ,}/&.{/ﬁ
17 and Y =Set of first 12 natural numbers, then ‘ ) (vi1)
find: XUY S XUYTY =
Find a and b, if (2a+5,3)=(7,b—4) (2a+53)=(7,b-4) /iZs# bua (vii)
If X={a,b,cland Y={d,e}, then find the number of 1§ L s 3#7/Y ={d,e} » X={a,b,c} /] (ix)

elements 1n X x X .

12 Solve any SIX parts.

If L={a,b,c}and M={d,e(f,g}, then find two binary J¢ »
relations in Lx L. «5\()0 _épl”@m

Show ANBby Venn diagram. When A < B "

U

What is meant by domain and range gﬁ &/}%ction?

Define an on-to function.

What 1s meant by union of sets?

Calculate three days moving ay, for the following

. N
record of attendance: i)

Week | Sun | Mon | Tue ["Wed | Thu | Fri | Sat
| 24 55 28 45 51 54 | 60

What do you understand by measures of central
tendency?

Compute arithmetic mean using 1ndirect method:

200,225,350,375,270,320,290

Define Standard deviation.

12 Solve any SIX parts.

What do you mean by Harmonic mean?
Write three properties of Arithmetic mean.
Define cyclic quadrilateral.

What 1s meant by polygon?

The length of the side of a regular pentagon 1s Scm

6@@ v M= {d,e,f,g} s L= {a,b,c} Ji

XxX ;ci: ()1’”
ESfimSe (S 3

(1)

_ﬂAgBjéﬁwarljgliq;/AmB (11)
S S gr (i)

?La.,ﬂ/‘l:—(c..df,f Ku;ﬁ’ (1v)

?%‘_Jl/gc:..é}'u;ldﬁﬁ‘f(f@ (V)
15”}”,&/:'J/Jd}f&.i@)é&/}bdjg)ﬁ

Week | i | g | B | o | @12 | 52| =5 (Vi)
| [24[55]28[45] 51 [54]60
S UrE Ll TTufgngLg,Lul;de » (vn)
"}L"“Jv’jfQWK)'Y’Jjﬁ?J,WL.@‘/L(ﬁ///E?)‘&,UJL : )
Vi1l
200,225,350,375,270,320,290: &
(1)

_"éu—y/?d/h—"/'dj’lzv

_ggJ’IZiéa_J:( 4
LSS UE b TV AL bl TR (i)

ek bl (i)
Sl g g (i)
Sl o Lo 2 (iv)

e e SIS LS B )
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what 1s 1ts perimeter?

Draw circles which touches both the arms of angles (1) Und S ufﬂiéuiméuxmzeméﬂf": (vi)
45° (1) 60° 60° (i1) 45° (1)
Define and draw the circumscribed circle. 2L F 28 Pl (vid)
lilé‘;:llllsn;sccibe a regular hexagon about a circle of T Kg}‘/"v Ju’f_‘g_f3 Sk s (viil)
Circumscribe a circle about an equilateral triangle ABC ST L1 S 2ttt £ K ABC el Lol ol (ix)
with each side of length 4cm. w4 A

-96109/:}‘)1,#-@?/08Lleﬁ-éf¢UlrJ;J/ FEPLPNP-EN

Part — II, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 1s compulsory.

The length of 32 items are given below. {, . (.7 ¢ 5 7 U 2 (3D) | &
Find the mean length and standard O b J(’”d ¥ {_J:’ Cur 0} Jw/g.( ) U

deviation of the distribution. -..ér L= R ,
04 - () 5
Length 20-1 23-1 26-| 29-| 32- i | 2022 | 2325 | 26-28 | 29-31 | 32-34
22 | 25 23 31 34 =
Frequency 3 6| 12 9 2 =124 3 6 12 9 2

The salaries of five teachers in Rupees are as S sl 22t L3 8 (U oDt Skl B
04 follows: 11500, 12400, 15000, 14500, 14800. (s g (o)

Find Range and standard deviation. 11500.12400.15000.14500. 148005
X-Y=XNY SZetiY={L35,.,17) 5 X ={1,3,7,9,15,18,20} < U ={1,2,3,...,20} /]

04 () -6
If U={1,2,3,..,20}, X={1,3,7,9,15,18,20} and Y ={1,3,5,... ,17}}he\n show that: X-Y=XNY'
04 . . . 1 A2 I -
Resolve 1nto partial fractions: — k)\ . =4 K Lus S8z (&)
X" +1 <\ X +1
. . . 11x+3 V{A 0 11x+3 F
Resolve into partial fractions: > 290 T 7 :
04 ¥ (x =3)(x +9) @%\/ (x-3)(x°+9) J’Vu‘u;/d, () 7
] | . 1 f = I >
04 Resolve into partial fractions: :éd:f”’ U U / SIVA __,
(x—1) @{4925 (x=1)*(x=2) )

Prepared by: BISIE%&h\Pak Forces Coaching & Educational Academy

Am(BuC) (AmEQ}Sb(mC) St w9y C = {1,4,8} 51 B=1{2,4,6,8} A_{1,2,3,4,5,6}fl

04 If =1{1,2,3,4 SQ} ={2,4,6,8}, C={14,8}, prove the identity: (&) _8
Am(BuC) (AmB)u(AmC)

Find the Range for the following distribution: E e S ot 0000
Classes / Groups f v, 149 ;
10--- 19 L 10— 19 10
20 T 29 7 20 L 29 7
04 30 - 39 2 30 — 39 9 (&)
40 - 49 6 40 L 49 6
50 --- 59 9 50 — 59 9
60 --- 69 1 60 — 69 "
Total 2.f =40 51 Y f =40
08 -UELﬁdr:l}dﬁivL’fér)l),E&?L.}f)?:dﬁfl)d//_jbujféaf‘ _9
Prove that the opposite angles of any quadrilateral inscribed 1n a circle are supplementary.
OR

Prove that any two angles in the same segment of a

i (L ! ¢ "l Sy 3 | @ f O
circle are equal. Ui VA" UnOls sy B G123 Jf;i_c
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